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I 1 mwnif a 9+ had nx»a with a nna’ and then his brother, also 9+, had n&»3, she is n%09a to both of them
a  w"—if yun ja nr2:0R*2, 279 one shouldn’t be meaningful; if Ywn 12 Nx2:~:1822, 274 shouldn’t be meaningful
b (pnan: Ywn 12 NRXA:NTIA MRY, and RN INR RN V?)
II 10 mwn: If a 9+ had nx»a with 1 nn1 and then with her n1¥, both are mmor (v™ disagrees again, for same reason)
a  mwn doesn’t comport with 'Rty 12, who allowed for 9nrn INR 908N only in case of 2 pn1 and 1 NN2%; not reverse
IIT  2n nmwn: more on the effectiveness of ywn 12 nx».a
a  If a 9+ performed ma» and then died, his brothers must perform n¥*%n (only);
i N17: proving that the ruling that a woman who has yn2’ ‘2 np>t needs n¥’on is not limited to a case of 2 pna
b  if he married and died (w/o children), his wife is 12»n jn nMVa (same applies to MOV RIW?)
IV o mwn: concluding ruling on »wn j2 nxoa:
a  if he was D27n and then married another and died, childless, without having had nx»a with the nn2’ since he
reached majority:
i onon: the nna> gets n¥Hn (only) and the other one may get either nx’on or ma»
1 challenge: why don’t we consider ywn 12 nR>2:9111 9nRn (D the wife is now PR 2 NPt YHY VWV VR NIX)
2 answer:
(a) 27 ywn 1 R~ RN
(b) 71 SX1PPYVN 12 MR DITAD INRD;
(i) our rin doesn’t accept N that pn2’ "2 Nt is exempt as NI against case of 2 mna’
1.  would apply it to jop; mentioned 171 because that was the context
(if) xan of “4 brothers” (x:3) does accept M
1. he would apply it to jop; mentioned 7T because that was the context
3 story of (3N "7 nYN) MYHR "1 who repeated this answer, without citing his teacher
(a) 1nv "1 was Tapn due to the credit given when nmn is said in a teacher’s name (v. 3) which led 17 to
request “living in 2 worlds (simultaneously)” (v. 2)
(b) students ("o “1 MR ") tried to appease him:
(i) story of ®™ and his colleague whose XT9p (in discussion about status of door-bolt as 3 vis-a-
vis nawa %1v9v) led to desecration of n”o and then of 172
1. 7 "9 - we are not colleagues!
() »mr9aapy 1 appeased him successfully:
(i) v.1-everyone knew that anything ywin> taught was nwn’s nmin
ii ~ w" - may perform ma» with either one
b all these rules apply equally to 9+ and to anyone until 20 who has not brought oo
i however, if he has 10 11’0, he may not perform any nx’9m ma»;
1 if he has simply not brought m 1 110, he is akin to 9+ until he reaches 35 (1/2 lifespan)
2 note: sometimes excessive thinness or fat may retard nn’o;
(a) ®171would order him fattened up or put him on a diet to allow p1°0 to come
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